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Graphing Equations: A review from above.

Using a Table of Values:

Step 1: Choose appropriate values of X’ to put in the table.

Step 2: Input each ‘X’ into the equation to find the corresponding ‘y’.

Step 3: Plot the new-found ‘ordered pairs’.

Step 4: Draw a line through the points. (be careful of the shape..not all are lines)

In this unit, we will be studying graphs of straight lines and their equations.

We call these LINEAR EQUATIONS.

An equation is said to be Iinear if it forms a straight line when graphed.

Equation of a Line Property:
The coordinates of every point on the line will satisfy the

equation of the line.
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36. Can you describe a “vule of thumb” that will enable you :‘qtull if an equation represents a linear
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The equation 2x + 4y = 16 is a linear equation.
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37. Find the coordinates of the point where the line crosses the ( kb- \ ﬂlfe/rC&'P-\_ o N rer
y-axis. (Think...what would be the value of ‘X’ here?) coN-ecre > =0 )
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38. What s the value of x’where il;c ;me crosses the y-axis?

39. Find the coordinates of the point where the line crosses the (x - "h'\'QI'QQ;P* > e
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40. Whatis the value of “y” where the line crosses the x-axis?
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Intercepts

The location where a line passes through the x-axis is called the x-intercept. This point will have the
coordinates (x, 0)

The location where a line passes through the y-axis is called the y-intercept. This point will have the

coordinates (0, y)
Consider: 2x + 4y = 16

This line has an x-intercept at (8, 0).
And a y-intercept at (0, 4).
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You may see this written as:
x-interceptis 8
AT :W y-intercept is 4
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Calculating intercepts from an equation:

The x-intercept will have coordinates (x, 0). This means we can substitute 0 in for y and solve to find the x-
intercept. The y-intercept will have coordinates (0, y).

Eg. Find the x-intercept for 2x +4y =16 Find the y-intercept: 2x +4y =16
2x +4(0) = 16 2(0)+4y =16
2x =16 4y =16
x=28 y=4

: D)
vdored . Cx}‘ﬁw O(w . D
© ?CJ-A.(- (%,)03 ?C‘A( CO, ‘Q)

Intercepts can be expressed as ordered pairs or simply as values.
For the example above, the x-intercept is 8 or the x-intercept is (8,0).

Some notes here...
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50. When do you think it would be appropriate (or the best scenario) to graph a line using the
intercepts as opposed to using some other Techniqu\e? : = @ :
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Answer the following questions about intercepts and linear relations. For these questions the

domain is all real numbers.

51,
relation that has two
intercepts.
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54, Draw a graph of a linear |

relation that has one

negative and one
positive intercept..
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57. Consider your answer to
the previous question.

What other type of line |

could you draw that
would satisfy the
problem?
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Draw a graph of a linear

52. Draw a graph of a linear '

relation that has two

positivejntercepts.
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58 Find the intercepts of
the following linear

equation.
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53, Draw a graph of a linear
relation that has two
negative ntercepts.
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55 Drawa graph of a linear :

56. Draw a graph of a linear
relation that has only
one intercept.
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59. Find the intercepts of
the following non-linear

relation.
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